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QUESTION 1

Exhibit: 

In the diagram provided for this question, four buildings are identified on a college campus. Most of the 

wireless LAN traffic will be from students accessing the internet. 

According to Aruba best practices, which building is the best location to install the Aruba mobility 

controller? 

A. data center 

B. dormitory 

C. server farm 

D. library 

E. 3rd party site 
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Correct Answer: A 

 

QUESTION 2

As illustrated in the above diagram, a company has two campus locations and a building headquarters all 

located in different cities. 

Following best practices, what would be the best way to construct mobility domains for the company? 

A. Buildings (1, 2) in one domain and Buildings (3, 4, 5, 6) in one domain 

B. Buildings (1, 2) in one domain, Building (3) in one domain, and Buildings (4, 5, 6) in one domain 

C. Buildings (1, 2, 4, 5, 6) in one domain and Building (3) in one domain 

D. Buildings (1, 2, 3, 4, 5, 6) in one domain 

E. Buildings (1) in one domain building (4) in one domain 

Correct Answer: B 

 

QUESTION 3
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A client device associates with an SSID provisioned with 802.1X authentication. The client is set for PEAP
authentication. EAP termination (AAA Fastconnect) is disabled on the controller. But the client continuously cycles
through the authentication process. Which of the following could cause this? (Choose two) 

A. The client is provisioned with the wrong EAP type. 

B. The client has an expired or revoked server certificate. 

C. The DHCP server is not enabled. 

D. The VLAN is missing for the SSID. 

E. The controller does not support PEAP in this mode. 

Correct Answer: AB 

 

QUESTION 4

What is the first role a user is given when a user associates to an open WLAN? 

A. The guest post authentication role 

B. The initial role in the captive portal profile 

C. The role in the server group profile 

D. The initial role in the AAA profile 

E. The initial role in the 802.1x profile 

Correct Answer: B 

 

QUESTION 5

How does an Aruba infrastructure calculate a wireless device\\'s location? 

A. GPS 

B. RF Fingerprinting 

C. RSSI triangulation 

D. TDOA 

E. LBS 

Correct Answer: C 
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